18.04 Brief Solutions to Exam 3 Fri 05 Dec 03
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Via residue callevlles instead, ot was
wf«fa‘d‘; 4o use Hhe path as hinted
rether thaw e more Mﬁma..:)‘ 7 k‘
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oo Since the CEAL FPARTS are Fhese

@ @) Much move baefly, the mapping W= %,!' Gunds us
within the unif corcle [W| =4 whenever Hhe "dishnce” 13'4J
of 'boo'nf 2 from +d (s smaller than ok "dclr/a»ce"{ B-#-:ﬁ,
From beadion =4 ; hence anywhere with Ke(a)»0 will do.
é) gmv'&r@, te Malof/nj ?-- %f— kh'// ca;n/am: Ye
enfire upper half-plane into that unif aircle , and
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desired Location.. Cleaned “2) W[&)= &-H:)E—{
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